3 May 1232.

Bryrmor Thomas, 15Q.s
Armstrong College,
Newcastle-upon-Tyna, 2,
Jear Sirs
reom sach field you have seven sets of five random

camples; & simple analysis 1s

Nate 3]
Error 28
Total 24

Fne 28 vegrecs ol freedom Lor error ave ol cuurse
conalituted of 7 sets of 4 each derived frou the seis of
6 parallels. 'ne & degrees of freedom for Uute can La
obtained by n1.:.1::|t.:t-ltﬂ'..d.;._":'r irom the total, or ae an iIndependent
check if ¢ is the t.nt.?rl of _fJ;'-I"li samples froms-

) F 5 (t-¢)

where ¢ 1 the mean of the 7 totala.

Futting the two fielde together thera are 60 Jeurees
of freedom, the two seta of 34 sach, and one more for the
general difference btetween the two fielda. This pr*l;r

you want to eliminate, so I should taka out th*‘t‘m daparate
analyses of 34 degreea of fresdom each,



e, Thomes =Z2=

01 Lhese 56 are pure error, 28 from each field. I'ha
two @ixes, however, may Le amalyamated and subdivided to show
how far the fields a.ree and how far they differ in their
seasonal changen. Thus if T le the total of 10 samplas
at any dacte, arawn frq? the two fielde

- 1
5 $(7-T)
ie the peascnal effect uerived from the aumknr the two
fielde, or in other words the seasuvnal comuonent they have
in common. again if D is tne diffsrence batween the sum of
the § samples from one field and the sum ot those Trom the
other y i
}ﬁ é.'l}_jhj

iz Lhe veasunal effect derived from the differences, or in
other words the differential sessuvnal component due presumably
to dirferences in the reaction of tna fields to seascnal
change.

fou will find that these Lwu new guantiiles, sach of
& degress of freedom add up Lo the same total of Lhe two
previous sixes from the Ilndividual fields.

Cn the segond problem I should certalnly use the method
of Ex, 38. A homogensous result woula be reassuring.
Youre sincerely,



